Pitt the Younger Narme:

Situation in 1783

National Revival? (. In 1783 Britain was in an awful\ What was done?
state.
(. Examine the differences ) « Huge government debt. (. Improved finances by: )
between 1783 and 1793 and « Inefficiency of government. * Reorganising government.
see how much related to Pitt « Loss of America. » Reforming tax collection and
himself. introducing the Consolidated
* What problems did Britain face? Fund.
* Improving revenue from taxes.
* How did the situation change? e Trade treaty with France.
» Sinking fund to pay off debt
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To what extent was Pitt
responsible for the national
revival after 17837
Pitt himself? Inevitable?
(. Were the improvements down to) Other aspects » The situation may have )
Pitt himself. /~ i i N\ improved anyway with Pitt's
» Some of the measures were : Q‘Z TSl BEEl (ErEEEEg) 59 intervention.
already in action before he I Id goyelrnment revgnueci * Yet there was an enormous
became PM. : ? dustrlg Io;tputl af‘ trade rose change between 1883-93.
* How important were other \(/\7 us;rla h evo uf'or})l':_ . * How much of this was Pitt's
individuals in Pitt's ministry? as this the resuit of Pitts work?
policies?
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